

9.8

(2) $f(x) = \ln(1+x)$, $a = 0$

$$f'(x) = \frac{1}{1+x} \quad \implies f'(0) = 1$$

$$f''(x) = -\frac{1}{(1+x)^2} \quad \implies f''(0) = -1$$

$$f'''(x) = \frac{2}{(1+x)^3} \quad \implies f'''(0) = 2$$

$$P_0(x) = f(a) = 0$$

$$P_1(x) = P_0(x) + f'(a)x = x$$

$$P_2(x) = P_1(x) + \frac{f''(a)}{2!}x^2 = x - \frac{1}{2}x^2$$

$$P_3(x) = P_2(x) + \frac{f'''(a)}{3!}x^3 = x - \frac{1}{2}x^2 + \frac{2}{6}x^3$$

$$(4) f(x) = \frac{1}{x+2}, \quad a=0$$

$$f'(x) = -\frac{1}{(x+2)^2} \quad \Rightarrow \quad f'(0) = -\frac{1}{4}$$

$$f''(x) = \frac{2 \cdot 1}{(x+2)^3} \quad \Rightarrow \quad f''(0) = \frac{2!}{8}$$

$$f'''(x) = -\frac{3 \cdot 2 \cdot 1}{(x+2)^4} \quad \Rightarrow \quad f'''(0) = -\frac{3!}{16}$$

$$P_0(x) = f(a) = \frac{1}{2}$$

$$P_1(x) = P_0(x) + f'(a)x = \frac{1}{2} - \frac{1}{4}x$$

$$P_2(x) = P_1(x) + \frac{f''(a)}{2!}x^2 = \frac{1}{2} - \frac{1}{4}x + \frac{1}{8}x^2$$

$$P_3(x) = P_2(x) + \frac{f'''(a)}{3!}x^3 = \frac{1}{2} - \frac{1}{4}x + \frac{1}{8}x^2 - \frac{1}{16}x^3$$

$$(12) f(x) = \frac{1}{1-x}, \quad a=0$$

$$f'(x) = \frac{1}{(1-x)^2} \quad f''(x) = \frac{2 \cdot 1}{(1-x)^3}$$

$$f'''(x) = \frac{3 \cdot 2 \cdot 1}{(1-x)^4}$$

$$\implies f^{(n)}(x) = \frac{n!}{(1-x)^{n+1}}$$

$$\implies f^{(n)}(0) = n!$$

$$\sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} (x-a)^n = \sum_{n=0}^{\infty} x^n$$

$$(20) \quad f(x) = (x+1)^2, \quad a=0$$

$$f'(x) = 2(x+1)' \quad \longrightarrow \quad f'(0) = 2$$

$$f''(x) = 2 \cdot 1 (x+1)^0 = 2 \quad \longrightarrow \quad f''(0) = 2$$

$$f^{(n)}(x) = 0 \quad \forall \quad f^{(n)}(x) = 0 \quad \forall n \geq 3.$$

$$\text{and } f^{(n)}(a) = 0 \quad \forall n \geq 3$$

$$\sum_{k=0}^{\infty} \frac{f^{(k)}(a)}{k!} (x-a)^k = f(0) + f'(0)x + \frac{f''(0)}{2!} x^2$$

$$= 1 + 2x + x^2$$

$$(22) f(x) = 2x^3 + x^2 + 3x - 8; \quad a = 1$$

$$f'(x) = 6x^2 + 2x + 3 \Rightarrow f'(a) = 11$$

$$f''(x) = 12x + 2 \Rightarrow f''(a) = 14$$

$$f'''(x) = 12 \Rightarrow f'''(a) = 12$$

$$f^{(n)}(x) = 0 \quad \forall n \geq 4 \Rightarrow f^{(n)}(a) = 0 \quad \forall n \geq 4$$

$$\sum_{h=0}^{\infty} \frac{f^{(h)}(a)}{h!} (x-a)^h = f(a) + f'(a)(x-a) + \frac{f''(a)}{2!} (x-a)^2 + \frac{f'''(a)}{3!} (x-a)^3$$

$$= -2 + 11(x-1) + 7(x-1)^2 + 2(x-1)^3$$

$$(26) f(x) = \frac{x}{1-x}, \quad a=0$$

Maclaurin series for $\frac{1}{1-x}$ is

$$\frac{1}{1-x} = \sum_{n=0}^{\infty} x^n$$

$$\Rightarrow \frac{x}{1-x} = x \sum_{n=0}^{\infty} x^n = \sum_{n=0}^{\infty} x^{n+1}$$

$$(28) \quad f(x) = 2^x, \quad a = 1$$

$$f'(x) = 2^x \ln 2 \quad f''(x) = 2^x (\ln 2)^2$$

$$f'''(x) = 2^x (\ln 2)^3$$

$$\Rightarrow f^{(n)}(x) = 2^x (\ln 2)^n$$

$$\Rightarrow f^{(n)}(1) = 2 (\ln 2)^n$$

$$\sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} (x-a)^n = \sum_{n=0}^{\infty} \frac{2 (\ln 2)^n}{n!} (x-1)^n$$

9.9

$$(2) f(x) = e^{-x/2}$$

$$= \sum_{n=0}^{\infty} \frac{(-x/2)^n}{n!}$$

$$= \sum_{n=0}^{\infty} (-1)^n \cdot \frac{1}{2^n \cdot n!} x^n$$

$$(4) \sin\left(\frac{\pi}{2}x\right) = \sum_{n=0}^{\infty} (-1)^n \frac{\left(\frac{\pi}{2}x\right)^{2n+1}}{(2n+1)!}$$

$$= \sum_{n=0}^{\infty} (-1)^n \cdot \left(\frac{\pi}{2}\right)^{2n+1} \cdot \frac{1}{(2n+1)!} x^{2n+1}$$

$$\begin{aligned}
 (8) \quad x^2 \sin x &= x^2 \sum_{k=0}^{\infty} (-1)^k \frac{x^{2k+1}}{(2k+1)!} \\
 &= \sum_{k=0}^{\infty} (-1)^k \frac{x^{2k+3}}{(2k+1)!}
 \end{aligned}$$

$$\begin{aligned}
 (12) \quad x^2 \cos x^2 &= x^2 \sum_{k=0}^{\infty} (-1)^k \frac{(x^2)^{2k}}{(2k)!} \\
 &= \sum_{k=0}^{\infty} (-1)^k \frac{x^2 \cdot x^{4k}}{(2k)!} \\
 &= \sum_{k=0}^{\infty} (-1)^k \frac{x^{4k+2}}{(2k)!} \\
 &= \sum_{k=0}^{\infty} (-1)^k \frac{x^{2(2k+1)}}{(2k)!}
 \end{aligned}$$

$$(10) \sin x = x + \frac{x^3}{3!}$$

$$= \left(x - \frac{x^3}{3!} + \frac{x^5}{5!} - \dots \right) - x + \frac{x^3}{3!}$$

$$= \frac{x^5}{5!} - \frac{x^7}{7!} + \frac{x^9}{9!} - \dots$$

$$= \sum_{n=2}^{\infty} (-1)^n \frac{x^{2n+1}}{(2n+1)!}$$

$$(14) \sin^2 x = \frac{1 - \cos 2x}{2}$$

$$= \frac{1}{2} - \frac{1}{2} \cos 2x$$

$$= \frac{1}{2} - \frac{1}{2} \sum_{n=0}^{\infty} (-1)^n \frac{(2x)^{2n}}{(2n)!}$$

$$= \frac{1}{2} - \sum_{n=0}^{\infty} (-1)^n 2^{2n-1} \frac{x^{2n}}{(2n)!}$$

$$(36) \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x}$$

$$e^x = 1 + x + \frac{x^2}{2!} + \frac{x^3}{3!} + \frac{x^4}{4!} + \frac{x^5}{5!} + \dots$$

$$e^{-x} = 1 - x + \frac{x^2}{2!} - \frac{x^3}{3!} + \frac{x^4}{4!} - \frac{x^5}{5!} + \dots$$

$$e^x - e^{-x} = 2x + 2 \frac{x^3}{3!} + 2 \frac{x^5}{5!} + \dots$$

$$\frac{e^x - e^{-x}}{x} = 2 + 2 \frac{x^2}{3!} + 2 \frac{x^4}{5!} + \dots$$

$$\Rightarrow \lim_{x \rightarrow 0} \frac{e^x - e^{-x}}{x} = 2$$

Additional Problem

$$f^{(n)}(a) = \begin{cases} 0 & n \text{ is even} \\ \frac{e^a + e^{-a}}{2} & n \text{ is odd} \end{cases}$$

(a) If $x=3$, then

$$\sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} (x-a)^n = \sum_{n=0}^{\infty} \frac{e^3 + e^{-3}}{2 \cdot (2n+1)} (x-3)^{2n+1}$$

(b) If $x=0$, then

$$\sum_{n=0}^{\infty} \frac{f^{(n)}(a)}{n!} (x-a)^n = \sum_{n=0}^{\infty} \frac{x^{2n+1}}{(2n+1)!}$$

$$\begin{aligned}
 (\Leftarrow) \quad \left| \frac{a_{n+1}}{a_n} \right| &= \left| \frac{x^{2n+3}}{(2n+3)!} \cdot \frac{(2n+1)!}{x^{2n+1}} \right| \\
 &= \frac{x^2}{(2n+3)(2n+2)}
 \end{aligned}$$

$$\therefore \lim_{n \rightarrow \infty} \left| \frac{a_{n+1}}{a_n} \right| = 0 \quad \text{for all } x.$$

\therefore The Maclaurin series for f
 converges for all f
 $(-\infty, \infty)$.